X=A
suonoun,j

Ll |

) e 3
X 100 =(x)/ - X109 HARv\. L p+x2+ Xq+ x0 =(x)/
X309940 = AHV f L juadue)o) ) iqn)
f
O . N
x 998 =(x)[f | ROOmHAHv\I 24+xq+ NRBHARV\
X008040 = (X) f | uees aneapend
L
<
x oos_(xy o |X09500=(X)J__] |
X 99500018 = (X)J JuBRISO) \
£ N
X _-qﬁlﬁo\ | xue) = v\ X cwo_n?vss uﬁxv\
fk uejote = ARV\ L juadue], Jruyesdoy Ayneuonaodolg ?__
N
) - & s B
d-'o="p | L HARv\ L XS0 = ARV.\. D= ARV& u HARV\
suoissaagoad ALPUW0ID) | ﬁa $030.1e = Akv\k L auiso) jenuauodxy JuEISu0) _—
& ————— e XU o
p-(1-u)+'v="p | x s =(x)f - REmHARv\ u+xu My = (x) f =) wrww -(D/ -+ xu = (x) f
suoissa.aoxd R | fk ursore = Akv\\ L ouls [eatpey Aypeuonaodoad asioAuy agaury ,
dLIJIWOUOILI) _
SUOISSAI04 IsIdAU] ILI)PWOUOSLA |, [euoneaI] [euoney [erwouijoq
: |
Nou‘“p yox(x)f=4 /

S[3.1 3} J9A0 suonduny| |

|

(speanjeu 3y} 1340 suonduny) sdadudnboag
I ] ,1

TVHd




